
5.10.20 
LI: To add 2 multiples of 10 
C: place value equipment    
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+ 

 
= 
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=  

 
+ 

 
= 

 
+ 

 
=  

 
+ 

 
= 

 

2 0 + 3 0 =     3 0 + 4 0 =    

5 0 + 4 0 =     6 0 + 2 0 =    

3 0 + 5 0 =     9 0 + 1 0 =    

3 0 + 3 0 =     2 0 + 5 0 =    

1 0 + 7 0 =     5 0 + 6 0 =    
 

Mark my work.  If it’s wrong write the correct answer. 

30 + 20 = 50 40 + 10 = 30 40 + 30 = 70 

60 + 10 = 90 50 + 30 = 80 50 + 40 = 100 

40 + 40 = 70 60 + 30 = 90 20 + 50 = 70 
 
 
 
 

6.10.20 
LI: To add 2 multiples of 10 

   
Chose 2 different coloured numbers to add up.  Write the calculations in your book. 

 
 

                 
  

        



Spot the 5 mistakes in Captain Trio’s addition grid 
 



      
      
      
      

 
 

Join the calculation to its answer. 

    

    

    

    

    

    

    

    

    
  



7.10.20 
LI: To add multiples of 10 to 2-digit numbers 
C: place value equipment    

 

 

+ 

 

=  

 

+ 

 

= 

 

 

+ 

 

=  

 

+ 

 

= 

 

 

 

        

 

+ 

 

I used the 
tens to  

help me. 
        

        
 

Write these calculations in your book and work out the answer. 
 

                  
 

                  
 

                  
 

                  
 

                  
 

                  
 

 
Fill in the numbers on the addition grid. 
 

+    

    

    

    



8.10.20 
LI: To add multiples of 10 to 2-digit numbers 
C: place value equipment or known facts 

I used the 
tens to  

help me. 

I did not use 
the tens to 
help me.  

 

                   

 

 

 

    

 

 

 

 

  

  

 

Chose a number from each pot 
and add them up. 
Write the calculations in your 
book. 

 

 

+ 
 

 
Join the numbers that make 53 

 

 

  

 

 

 

  

 
      

 

 

  

 

 

 

  

 

 
 
 
 
 
 
 
 
 
 













 



 



 



 



8.10.18 
LI: To add two numbers 
C: multiples of 10 to 2-digit numbers    

 

    

    

    
 

   
 

    

    
 

 





 



 



 









 



 



 









 



 



 









  



  



 





 



 



 









 



 



 






